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Topic: Physics-Section A
Item No: 1
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Item No: 3
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Question Type: | MCQ
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Topic: Physics-Section A

Item No: 4

Question ID: 15477154524

Question Type: | MCQ
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Topic: Physics-Section A
Item No: 5
Question ID: 15477154525
Question Type: | MCQ
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Topic: Physics-Section A
Item No: 6

Question ID: 15477154526

Question Type: | MCQ
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Topic: Physics-Section A
Item No: 7

Question ID: 15477154527

Question Type: | MCQ
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Topic: Physics-Section A

Item No: 8

Question ID: 15477154528

Question Type: | MCQ
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Topic: Physics-Section A
Item No: 9
Question ID: 15477154529
Question Type: | MCQ
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Topic: Physics-Section A
Item No: 10
Question ID: 154771545210
Question Type: | MCQ
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Topic: Physics-Section A
Item No: 11
Question ID: 154771545211
Question Type: | MCQ
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Topic: Physics-Section A

Item No: 12
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Question Type: | MCQ
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Topic: Physics-Section A
Item No: 13
Question ID: 154771545213
Question Type: | MCQ
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Item No: 14
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Topic: Physics-Section A

Item No: 15

Question ID: 154771545215
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Topic: Physics-Section A

Item No: 16

Question ID: 154771545216

Question Type: | MCQ
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Item No:
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Topic: Physics-Section A

Item No: 18
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Topic: Physics-Section A
Item No: 19
Question ID: 154771545219
Question Type: | MCQ
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Topic: Physics-Section A
Item No: 20

Question ID: 154771545220
Question Type: | MCQ
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Topic: Physics-Section B

Item No: 21
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Item No: 22
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Item No: 23
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Item No: 24
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Topic: Physics-Section B
Iltem No: 25
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Topic: Physics-Section B

Item No: 26
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Topic: Physics-Section B

Item No: 27
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Topic: Physics-Section B
Item No: 28
Question ID: 154771545228

Question Type:
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Topic: Physics-Section B
Item No: 29
Question ID: 154771545229
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Topic: Physics-Section B

Item No: 30
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Topic:

Chemistry-Section A

Item No: 31

Question ID: 154771545231

Question Type: | MCQ
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Topic: Chemistry-Section A

Item No: 32

Question ID: 154771545232

Question Type: | MCQ
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Topic: Chemistry-Section A

Iltem No: 33
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Question Type: | MCQ
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Topic: Chemistry-Section A

Iltem No: 34

Question ID: 154771545234

Question Type: | MCQ
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Topic: Chemistry-Section A

Item No: 35

Question ID: 154771545235

Question Type: | MCQ
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Topic:

Chemistry-Section A

Item No: 36
Question ID: 154771545236
Question Type: | MCQ
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Topic: Chemistry-Section A

Item No: 37

Question ID: 154771545237

Question Type: | MCQ
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Topic: Chemistry-Section A
Item No: 38
Question ID: 154771545238
Question Type: | MCQ
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Topic: Chemistry-Section A
Item No: 39
Question ID: 154771545239
Question Type: | MCQ
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Topic: Chemistry-Section A
Iltem No: 40
Question ID: 154771545240
Question Type: | MCQ
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Topic: Chemistry-Section A
Item No: 41
Question ID: 154771545241
Question Type: | MCQ
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Topic: Chemistry-Section A
Iltem No: 42
Question ID: 154771545242
Question Type: | MCQ
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Topic: Chemistry-Section A
Item No: 43
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Question Type: | MCQ
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Topic: Chemistry-Section A
Item No: 44
Question ID: 154771545244
Question Type: | MCQ
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Item No: 45
Question ID: 154771545245
Question Type: | MCQ
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Topic: Chemistry-Section A

ltem No: 46

Question ID: 154771545246
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Topic: Chemistry-Section A
Iltem No: 47
Question ID: 154771545247
Question Type: | MCQ

$74- BRIIHS AR [FHE AATE AdF [[3fo BiTw T4

fTgfs1: 33= [Mtass (ERREGT) SeTEad Wl N Sls =oie
(M (T OYNE BEIHAGIHT NPTl (LA =

Question:
a3t 11 : SertEtea Suw [Ararss sife=at TG I+ 919 S|
BN [gMoaferd WS SItb (Mo¥ [Regef (F Jos Gadlb
fol=w F4

A: 4315 1.93¢ 11 SoHz 3%

B: [R3® 1933 11 Gowz g




C: A3 1 5% g g 1 o
D: 9% 1 9 % [Rfe n B+
Topic: Chemistry-Section A
Item No: 48
Question ID: 154771545248
Question Type: | MCQ
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Topic: Chemistry-Section A
ltem No: 49
Question ID: 154771545249
Question Type: | MCQ
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Chemistry-Section A




Iltem No: 50
Question ID: 154771545250
Question Type: | MCQ
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Topic: Chemistry-Section B
Item No: 51
Question ID: 154771545251
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Topic: Chemistry-Section B
Item No: 52
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Topic: Chemistry-Section B
Item No: 53
Question ID: | 154771545253
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Topic: Chemistry-Section B
Item No: 54
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Topic: Chemistry-Section B

Item No: 55

Question ID: 154771545255
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1 atm CTG BIC [IEFTID STSOIRET 2185 =71 [RTRRTY (41 (51 ST
= £ oY e

0.6 CHI<1 2FHIG <=l | [T WW ( E|$G‘{Jﬂ
BREE))

Topic: Chemistry-Section B

Item No: 56

Question ID: 154771545256

Question Type:

Numeric Answer

Question:

QN AGS0S 0.125¢ ARINR 0 (I (AR [T S|
22.78 mL WIZLBITGHTS 280 K OIS & 759 mm He BT KHO B(~d
ST 8= T 26| (G1d C9BTS NIBCGITGIA *T@Ie=T AAf7wrer

(Hoow Fefgam)

HAG : (a) 280 K OISR Giled PB4 14.2 mm Hg.

(b) R =0.082 L atm K~! mol™!




Topic:

Chemistry-Section B

Item No: 57

Question ID: 154771545257

Question Type: | Numeric Answer

Question: KIO, 4% (W] OI59d GI<e A9 S0 [[iapu GG ATOHEG Gliee
=EH 0, TFY 2| KIO, A 197 GIFT e AR =07 =¥

Topic: Chemistry-Section B

Item No: 58

Question ID: 154771545258

Question Type:

Numeric Answer

T8 A FTa %Hﬂfﬂ?ﬂ? In(k) 47 (ETEA(G fAaer

20

I

Ink
10
Question:
! I ——
0.0 1 5] 3 4 5
,—:_ KH—>
EIGIE }irﬁ"ﬂ"l & cal mol ™!
(MG R =2 cal K1 mol™)
Topic: Chemistry-Section B
Item No: 59
Question ID: 154771545259

Question Type:

Numeric Answer




qET ome ST (FUSaales T (Tafs Crofay ST SiEmrse Iy

PLA AL, O M4l

(al

X
log—

(b}

log—
b

Question:
(e) log P — @) r—
Iiu__=£ Iugi
P — log p —
Topic: Chemistry-Section B
Item No: 60
Question ID: 154771545260

Question Type:

Numeric Answer

SER fasfela N0ET S5 WNFE (oISl FI¥) J9

AT |

WreTsar @ (U)
Question:

Ao (V)

©I* (q)

AN (H)
Topic: Mathematics-Section A
Item No: 61
Question ID: 154771545261
Question Type: | MCQ

x+3—1
Question: Ak SZ[XE[_6= =42, 2}:%:—’0} R T:{xEE x2 7 |x|+9£t]}
 OIRE SNT (B0 ARSI =
A: 7
B: 3




C: 4

D:

Topic: Mathematics-Section A
Item No: 62

Question ID: 154771545262
Question Type: | MCQ

Mo BB 12 J2x4 J6—0 T AGL IR 41 8 B%_H =
[}

Queston: L+ ax+b=0 98 A OREA x>~ (a+b—2)x+(a+b+2)=0NIBEIH
JIeresfe

A: GiDA 498 IBI TN

B: B FI 992 TOUY YA H

C: S A I3 TGN GAYP

D: I I A% (ST IFDE FTHF

Topic: Mathematics-Section A

Item No: 63

Question ID: 154771545263

Question Type: | MCQ

4T A B 3 x 3 PN QUG Aoy IfEF. 992 B 37 3 « 3 TN AH(0

Question: fIofSs s iR | S22 Sied (@0 JoF 3312
A: A*—B* g0 afest WG s

B: AB - BA 4310 Afosy Wigs

C: BY - A% GFIG ST g H

D: AB + BA g0 2SN WEH

Topic: Mathematics-Section A

Item No: 64

Question ID: 154771545264

Question Type: | MCQ

A=+ by +c TAA TF(1)=3.A-2)=) f(3)=

Question:

AWM £(0) +£(1) +£(-2) + £(3) = 14, T, O . 99 W+ Z(J
A: —4

13

B:




[
fad

C: >

D: 4

Topic: Mathematics-Section A
Item No: 65

Question ID: 154771545265
Question Type: | MCQ

49 f 1 T — IO B0 (VAL AR

Question: Fe)= fim SSC@R) =TS0 G | | g7 (57N NI B f TS
i 14 2ntl _ i 2n

(T2 NI (610 =6

A R-{-1}

B: R-—{1,1}

C: E-—{1}

D: E-{0}

Topic: Mathematics-Section A

Item No: 66

Question ID: 154771545266

Question Type: | MCQ

Question: fx) = xe¥(1-%) x € B, WUFH0
i
x L g e
i
B: % z] SEAI A
i
C: i —é] W@ AP
- L 1) erwaer afds
D. _"_):E Fy
Topic: Mathematics-Section A
Item No: 67
Question ID: 154771545267
Question Type: | MCQ

Question:

[0, =] W f(x) = tan~! (sin x — cos x) TTORIEH0F AN I E9 & [
<INS WA (A51F =20

A:




1 ™
B: (77 gl i (s
Eo
C: cos™! oLl
N34
o =%
' 12
Topic: Mathematics-Section A
Item No: 68
Question ID: 154771545268
Question Type: | MCQ

x(r} 202 cost 4fsin 2t 9 (1) = 2‘\5 sint

rre( %ﬁlﬁﬂﬁﬁ

Question: H[m] -
Lg r=— LM 209
d"_} 4
d?
A: i‘E
3
2
B: -
3
C: E
3
D: _—2
3
Topic: Mathematics-Section A
Item No: 69
Question ID: 154771545269
Question Type: | MCQ
Question: gq ! '1) _[ ———dt,n=12, 3 U ETG |
(r +5 )
A: S0F, 91 =xI}
B: 501, —111, = xI;
C: S0, —9. =1,
D: 500, 117, =1
Topic: Mathematics-Section A
Item No: 70
Question ID: 154771545270




Question Type: | MCQ

Question: y = 1 GIIR B s orafEe A y=log, (x+¢), x=log, %] x = log,2
TPad 9 AHE TS Ghlad Chawd 24 '

A: 2+e—log2

B: 1+e—log.2

C: c—log.2

D: 1+1log.2

Topic: Mathematics-Section A

Item No: 71

Question ID: | 154771545271

Question Type: | MCQ

x—1
x+4+1

[\
§ 3 = v(x) T g+;y= /:, +>1 . TEHA AAHIHT (2 T

=1

Question:
EERIE [_‘E} Al O 7 (8) TN
A 11 + 6 log,3
B: 19
C: 12 -2 log,3
D: 19 -6 log.3
Topic: Mathematics-Section A
Item No: 72
Question ID: 154771545272
Question Type: | MCQ

Question: (0. 2) G35 (0. —2) AFHWSTA JSBTHRT AIF ANPIN G =61
A: 2)@;@4—&2—}‘24—4}:9
dx

dy .
B: 2xy =+ (x24I —4)=0
XV & ( y )
C: hy@-l—{yz—xz—l—ﬁl):ﬂ
dx
& o9 o
D: 2xy—=——(x"—y"+4)=0
e (x“—y"+4)
Topic: Mathematics-Section A
Item No: 73
Question ID: 154771545273




Question Type:

MCQ

Rl +y -4 +3=0J@I OGFI A 8B [ ® AFe == Fgd ¥ {5,

Question:
0 (0, 0) (® FfeT® =7 ©N=e 0AB (oG Fawa =

A: 3_‘(';’

2
B: 3_‘(';’

4
N &
N &

. 4‘J§

Topic: Mathematics-Section A
Item No: 74
Question ID: 154771545274
Question Type: | MCQ

4 H:;—;—";—izl NRS(E (245, - 243) R R « =T H Gl
HAPCBA (T WO QUG W 4GS OI2NH A© FIAF JF0 WIS P

ti . en

Question w5l Ze A=A VRIS H HARSH WO Aot I e g
NOATET (AT H 7 NOTHd ¢ BT XN, OIR0E WI6F (I {96 p I3
GHF AR ?

A: (h@: 3&)

B: ( SRE )

C: («."'5 «."E)

D: (}u"_ 6«4’—)

Topic: Mathematics-Section A

Iltem No: 75

Question ID: | 154771545275

Question Type: | MCQ
4 P SeT6 NIGH 26 (RIS AN B ==L 2=22 4R

Question:
K20y HIS_ 238 orRtet SITER (1 [R5 P SR TR AT 12

"a 3

(0.-2.-2)

B: (-5.0.-1)

(3,-1,0)




D: (0. 4, 5)

Topic: Mathematics-Section A
Iltem No: 76

Question ID: 154771545276
Question Type: | MCQ

4P A (2. 2. -2) R 9= S0 ST = 2.1, -3 G983 -1.2. 2
RIS T9F F25 (@TF ST | 37 P Oel(G BNIE WG ie

Question: TATF(A A, B & ¢ [0S (T7 I, 938 o B & 7 WA (RIO18* 5 HF
FA | M 0 TART. T2 OABC HRHa (tetrahedron) 7 V T, OIEA
(p=o+B+y) IS ST T A

A (48.-13)

B: (24.-13)

C: (48. 11)

D: (24. -5)

Topic: Mathematics-Section A

Item No: 77

Question ID: 154771545277

Question Type: | MCQ

49 S 2 =61 (RIS € = A7 (576 A G0 4 = a(log, b)i -6 +3k A3

Question: v =(log, b)i +2]+2a(log, b)k,(b>1). 98 TABINS (F7 B0 STFNH =W
| 2Male S AT
A: [—002 =2 i‘]
3
B: o}
C: [—i—t D]
3
12
D: —, 0
(7
Topic: Mathematics-Section A
Item No: 78
Question ID: 154771545278
Question Type: | MCQ




49 OAB X1 [GQUIP® STQNF (Horizontal) GWIN (Park); (LA
AB = 16 A%F| N FF OP T AF(6 AIPATATE 19 A =1 ol 3

Question: /PAO=/PBO=15" 4% /PCO=45"TY, (YU C Z¢1 AB 4 NI, wrzte
& TR (M F5fwa (Ifaats) =1
32
A: E ('\E— 1)
32
B: E (2— '\E)
C: 10 (-»E’— 1)
3
D: 1o (2— -\E)
3
Topic: Mathematics-Section A
Item No: 79
Question ID: 154771545279
Question Type: | MCQ
{9 A 43¢ B 45071 {5 <O WTHH Gy P[B|A)=§  P(A]B)=5 TR

P{.4H3}=é | ®l=(+ ﬁl’fb_d @i@’ E]%a \Gi =]

Question: () P(A'U R):g
(S2) P(A'U H'}:é
T [ Ao
A: (S1) S (52) CICIEERaIC)
B: (S1) 8 (S2) Gwrwz 3y
C: (PN (S1) H9]
D: (FITHIA (S2) o]
Topic: Mathematics-Section A
Item No: 80
Question ID: 154771545280
Question Type: | MCQ




g9
p : O 5T (=M

q : FUN OIF ATCNE A IR

Question: ¢ - G ﬂﬁ?ﬂ?f
s - WGy *QTd
SIRE <FUN MW (A (VA 0 (F O A0 AMF 43¢ M= a4
QT T - IR SIS0 (NIE (B SMA0F [99M® Q&1 AF=e =30
A: ((~q)Aa(rvs)=p
B: (qAa(rvs))=p
C: p=(qA(rvs))
D: p=((~q)A(rvs))
Topic: Mathematics-Section B
Iltem No: 81
Question ID: 154771545281

Question Type:

Numeric Answer

' -4 s —
>0 WA (L] aospep AR (18, |, A= Rgfor warem @fe
i) A h 2

g

Question: GHI TATEF 51 55~ FLA | M d & FUST A5SF FAF THFD =7,
BI=TE s0- Ef pRC

Topic: Mathematics-Section B

Item No: 82

Question ID: 154771545282

Question Type:

Numeric Answer

49 A0 (HNIBCEF b FLLUTF e 498 ¢ FLLTF MeT B ANz | ; g 3 6

Question: FF IS @ 2 6 g e WIF 9175® RieTd ST JeUT 168 T, ©I=E
b+ 3 g AN

Topic: Mathematics-Section B

Item No: 83

Question ID: 154771545283

Question Type:

Numeric Answer




OE| :_L_I@WB%PGQWWW R(2.242-2

Question: e (g7 S| Hﬁ@ﬂa—% ST TTSHd Wﬁt_ﬁﬁw S
5. IR SP2+ ‘SQ“ L AT H Al

Topic: Mathematics-Section B

Iltem No: 84

Question ID: 154771545284

Question Type:

Numeric Answer

A1+ Q2 +%C; + P90, + ..+ ¥Cyg) (00, + 300, + ..+ 300, ) R W= 21

Question:
m. 2F. (T m 2T WY JLYT, OI=20 n + m HAA :
Topic: Mathematics-Section B
Iltem No: 85
Question ID: 154771545285

Question Type:

Numeric Answer

(2. 0) R =08 232 = -« AfHFTeA TN 76 =>fF 1, 8 1, Wiw =41 IR 1,

Question: & |, TFTFUTREID (x — 5)2 + y2 = 1. JBILIS ™ =P =, OI=( 17r
AT .

Topic: Mathematics-Section B

Item No: 86

Question ID: 154771545286

Question Type:

Numeric Answer

6 10 20 40, 10240 o0 o TN, (UM m 60 SIS0 S

Question:
WIRLET mn Ad W AT
Topic: Mathematics-Section B
Item No: 87
Question ID: 154771545287
Question Type: | Numeric Answer
T W 3TN
RS =[-1,2)~ =2~ 7.~ = o O
2% 4 4 4

Question:

={He§':mn€(l+\f§lan(ZS}]=£—tan{2€}} (MGHr® (NG A ALY =

Topic:

Mathematics-Section B




Iltem No:

88

Question ID:

154771545288

Question Type:

Numeric Answer

$Wz=a+ib, bz 0 TTIFNGOAAMN T 2 _ 3 515 Ol ne1r. @7
|

Question:
AP NN YA GA] 27 = (z+1)", T O =
Topic: Mathematics-Section B
Item No: 89
Question ID: 154771545289
Question Type: | Numeric Answer

15 ST 4 6 5T 8 6 G FIE I TR & IS 20S IR ©IF foAib

Question: T (I 26| W F4 & o160 I07d N0HT ATST 5 qeIld HIAI =27 X |
M X 99 (SUN ;2 B OIRCEA 00,2 7 W |

Topic: Mathematics-Section B

Iltem No: 90

Question ID: 154771545290

Question Type:

Numeric Answer

Question:

Joosinl6x) 4 STNIEOR TN =T |
]

sin x




